People's Canopy by People's Industrial Design Office [T NaIEIN Tt RN LY ey /AT0



Expandable canopy with 10-meter span

Quantity: 6 sets

40MmMm*40mm™*1.2mm

* ES

40mm*40mm*1.2mm

40mm*20mm*1.2mm

50mMm*25mm*1.2mm

mm*2mm

Expandable canopy with 5-meter span

Quantity: 9 sets

A
A A Pdh People's Industrial Design Office

Expandable canopy types

Scale 1:100

Drawing

2015/07/10

1



Fasten with bolt m10

f—

ntity:

\
D 60
| @100 |

Steel plate 1

Detail View B
Scale 1:10

| Fasten with
bolt m10

N

|

‘ ! Column is inserted
Steel plate 1 “ over Nylon 2

Detail View C
Scale1:5
. A \ : .
D§<§||Iev1le-W5A A A b People’s Industrial Design Office Drawing 2-1

Exploded View 1 Scale 1:50 2015/07/10



Truss structure is inserted
300mm intfo the columns

AT LT

: Screw one end of the diagonal |
-t holcoin place brace to the main beam -

Truss structure is secured
info the columns with 2

bolts. Connect one end of the

diagonal brace to the X-frame

Support leg is secured into
the column with two bolts

A
A A Pdh People's Industrial Design Office Drawing  2-2
Exploded View 2 Scale 1:50 2015/07/10



Welded steel plate 1100*100*5mm Quantity:18 per canopy

/

‘ Bolt M10 Quantity:108 per canopy

e
o
~ © ’ ~
V@; 2 p N I
0 [\
2 ’
[
o \\

Detail View D
Scale 1:10

A
A A Pdh People’s Industrial Design Office Drawing  2-3

Exploded View 3 2015/07/10



Threaded Stud L:120 P : 10

Threaded Stud L:120 &P : 1

Detail View D
Scale 1:10
Bolt M10 ] |
Bolt M1 <E
7\
(:)

Detail View E
Scale 1:10

The horizontal beam is installed

Bolt M8 on the threaded stud fo secure
the distance between each
N column
) M ~
i =
N
L& .
= Q::\
Horizontal m 7\4
Bolt M
— L
Bolt M8 N\ R '
\ <.
Bolt M N 7 ;
\\\

Detail View F

Scale 1:10 Detail View G
Scale 1: 20

Bolt M10
&
Bolt M10
Bolt M10
Threaded q
Stud L:120
d10
Bolt M10
7
A"
Detail View H
Scale 1:20
Bolt M1

i ;
/

Threaded Stud L:120 & : 10 —

Detail View |
Scale 1 :20

Note: each canopy has four horizontal beams

A
A A Pdh People’s Industrial Design Office Drawing  2-4
Installation Diagram Scale 1:50 2015/07/10



500

25
@)
@ 10} 3
50 400
Scale1:2 Scale 1:2 Quantity: 56

Canopy Connector

_] / [
Canopy Connector

Canopy Gonnector

Canopy Connector

D:

Detail View K
Scale 1: 20

Detail View J
Scale 1: 20

T

S
g DL

L4 L W B s I B } y W I W I

Scale 1: 100 Scale 1 : 100

A
A A Pdh People’s Industrial Design Office Drawing 3
Canopy connectors diagram Scale 1:2 2015/07/10



Quantity: 60

Scale 1: 10

Horizontal beam ||

X
|

—— |
—— |

I

Id

—— |

——— |

——— |

T

2540

)

1

rS

&
@
@
&
r'S
rS
&
i

A==

=
|

r >\

=

Scale 1 : 50

|

Scale 1 :10

AT LT
e <

™~
Install all upper horizontal
beams on the inside A 65mm diameter
10mm thick round ring
is fastened to the
Detail View X X-frame and slides up
Scale 15 I I and down the column
when the canopy con-
Q ", tracts and expands.
I Threaded studs are- |
welded on both sides of
=y the ring and fastened =
‘ = Install lower horizontal with a nut. N
] beams opposite to seating S )
Scale 1: 50

A
A A Pdh People’s Industrial Design Office Drawing
Horizontal beam installation diagram 1 Scale 1:10 2015/07/10

4



2540

)
1

0
c
w
N
&
<
<
&
rs
°
i
d

Scale 1:10 Scale 1:10

Horizontal beam
Install lower horizontal
beams opposite to seating

I
i
%’ _—— H
[
|
I
[

Install all upper horizontal
beams on the inside

=
[
—
==
=
=SS

A 65mm diameter

> 10mm thick round ring Détail vi L
is fastened to the CZII ev[]e\INS
X-frame and slides up )

and down the column
when the canopy con-
Scale 1: 50 tracts and expands. Scale 1: 50
Threaded studs are-

welded on both sides of|

the ring and fastened

with a nut.

Horizontal beam~

A
A A Pdh People’s Industrial Design Office Drawing
Horizontal beam installation diagram 2 Scale 1:10 2015/07/10



47

2480

g

—1310

bk hh

S/

18681

10000

ﬁ

006¢

1 0

617/

GC6E1LS

[

6

Drawing

A A Pdh People’s Industrial Design Office

A

2015/07/10

Scale 1:100

10-meter canopy—collapsed



10000

5139.25

|

Yo
J

]

2900

[

12000

1

1500 ., _

5139.25

$87.73

/19

2300

—

A
A A Pdh People’s Industrial Design Office

10-meter canopy—expanded

Scale 1:100

Drawing

2015/07/10

7



I

N

——

-

R

——

R

el

R




5000

4738.81

|

4738.81

12000

A
A A Pdh People’s Industrial Design Office Drawing

5-meter canopy—expanded

Scale 1:100 @ 2015/07/10

9



850

@

2 o =
™~ =
&
2|
Q
D10
o Z T
m* Ll

—
o
Steel pipe 1 Thickness 2mm
/|
o Steel plate 1 Thickness 2mm
o
N

Welded connection

A
A A Pdh People’s Industrial Design Office

Canopy accessory—stands Quantity 120 Scale 1:5

Drawing

2015/07/10

10



40

£

N

Nylon 1

0]

A
A A Pdh People’s Industrial Design Office

0¢

11

Drawing

2015/07/10

1:1

Quantity 150 Scale

Nylon 1



Nylon 2

oS

2
J)

o€

e
.

VAS4e)

40,

59 %

12

Drawing

A A Pdh People’s Industrial Design Office

A

2015/07/10

1:1

Quantity 150 Scale

Nylon 2



The hand brake is fastened
on the front fork by two M8 bolts |~

Bolt M8

Welded M8 nuit

o P

Welded M8 nut

96

The brake is 0 D7
fastened on ™
the front fork ol

by a M6 nut A }/ |

Detail View M

Detail View N
Scale1:2
LN
™
<
o
o =
foN
o
@)
0
N
| |

A
A A Pdh People’s Industrial Design Office Drawing 13
Cycle components | Quantity 150 Scale 1:10 | 2015/07/10



458

283

r
LL"_\:L

Welded nut for fastening Nylon 1

@32

230

230

198

174

D32

Steel tube 2

Outer diameter 32mm
Inner diameter 28mm

Length 458mm
Thickness 2mm

/Q\_/
Welded connection

@32
» _ D5
_ |
085
e‘/
3
< b8 50
@,/

Steel tube 4

Outer diameter 32mm
Inner diameter 28mm
Length 158mm
Thickness 2mm

/

N—

Welded connection

teel plate 2

Steel plate 3 Steel tube 3

Outer diameter 32mm
Inner diameter 28mm
Length 230mm
Thickness 2mm

Steel tube 5

Outer diameter 32mm
Inner diameter 28mm
Length 32mm
Thickness 2mm

Welded connection

A
A A Pdh People’s Industrial Design Office Drawing 14

Cycle component—cycle frame  Quantity

150 Scale 1:2 2015/07/10



L

D32

D 65

A
A A Pdh People’s Industrial Design Office

Cycle component—cycle frame:
—steel plate 3

Quantity 150 Scale 1:1

Drawing

2015/07/10

15



Bench support

i

08 ¢

ST

D
=

¥47)

18

Bench support is screwed onto the benc

09

Bench connectors insert
into the unicycle support

A

16

Drawing

A A Pdh People’s Industrial Design Office

2015/07/10

1:1

Quantity 120 Scale

Bench support



Bench support

|t

08 ¢

ST

N
)
=

¥47)

18

Bench support is screwed onto the benc

Bench connectors insert
into the unicycle support

G/

A

17

Drawing

A A Pdh People’s Industrial Design Office

2015/07/10

1:1

Scale

Quantity 30

Bench support



.50

1

Attachment position

for bench support

O
LO‘

Attachment position
for bench support

|

620

[}

/95

Y

1590

1

| j

40

|
T

1500

100

/?30

/5

£

N

Solid wood

A
A A Pdh People’s Industrial Design Office

Wood bench 1

Quantity 30

Scale

1:10

Drawing

2015/07/10

18



Attachment position Attachment position

for bench support for bench support Attachment position
for bench support

100

1590
| 350 .
-
@ @ e —
9 °, QK Oy ; SO'Id WOOd
Q S
Q|75 - 620 | 175 | O
175 |
o 1590 _
= S
I [ | |
1500

A
A A Pdh People’s Industrial Design Office Drawing 19
Wood bench 2 Quantity 30 Scale 1:10 @ 2015/07/10



0.06m

Material:PVC fabric

12m /

1.5m

SSVAVA

0.06m

12m

Material:PVC fabric

/

1.5m

Wz ol

AF& People’s Industrial Design Office | Drawing 20

Fabric pattern | 2015/07/10




Velcro No.1 is sewed
from inside of the cloth,
with hook side and
rough side at both ends,
above the folding end,
wraps around the post
and fastened.

Velcro No.2 is sewed
from inside of the cloth,
with hook side and
rough side at both ends,
wraps around the post
and fastened.

Velcro No.3 is sewed
from outside of the cloth,
it will need to be folded
and go through the end
of the cutting and then
wrap around the post and
fastened.

Velcro No.2 wraps
around the post and
fastened after the cloth
is folded over.

Velcro No.2 is positioned
above the ring of the frame.

AF&' People’s Industrial Design Office | Drawing 21

Fabric installation 1 | 2015/07/10




Velcro No.3 is positioned
above the pivot point of
the frame. It will need to
go through the end of the
cut and wrap around the
post and fastened.

Folding end

Velcro No.1 is sewed
from inside of the cloth,
positioned above the
folding end and below
the pivot point of the
Velcro No.2 wraps frame.
around the post and
fastened after the

cloth is folded over.

Velcro No.2 is positioned
above the ring.

Ring

KX %8 People’s Industrial Design Office | Drawing 22

Fabric installation 2 | 2015/07/10




/(.‘J\ &b People’s Industrial Design Office Drawing 23
Fabric installation 3 2015/07/10



	图纸1
	工程图视图88
	工程图视图89

	图纸2
	工程图视图61
	局部视图 D (1 : 5)
	局部视图 U (1 : 5)

	图纸2(2)
	工程图视图224
	工程图视图225
	工程图视图226
	工程图视图227
	局部视图 V (1 : 20)
	局部视图 W (1 : 20)

	图纸5(3)
	工程图视图197
	工程图视图198
	工程图视图200
	工程图视图202
	局部视图 X (1 : 5)

	图纸5(3)(2)
	工程图视图205
	工程图视图206
	工程图视图208
	工程图视图210
	局部视图 Y (1 : 5)

	图纸5
	工程图视图5
	工程图视图7
	工程图视图169

	图纸6
	工程图视图12
	工程图视图13
	工程图视图14

	图纸11
	工程图视图82
	工程图视图83
	工程图视图84

	图纸10
	工程图视图79
	工程图视图80
	工程图视图81

	图纸13
	工程图视图139
	工程图视图140
	工程图视图141

	图纸16
	工程图视图121
	工程图视图122
	工程图视图123
	工程图视图124

	图纸17
	工程图视图164
	工程图视图165
	工程图视图166

	图纸14
	工程图视图25
	工程图视图28
	工程图视图29
	工程图视图158
	局部视图 T (1 : 2)

	图纸19
	工程图视图43
	工程图视图92
	工程图视图93
	工程图视图236

	图纸21
	工程图视图116
	工程图视图117
	工程图视图118

	图纸18
	工程图视图125
	工程图视图126
	工程图视图127
	工程图视图159

	图纸18(2)
	工程图视图211
	工程图视图212
	工程图视图213
	工程图视图214

	图纸15
	工程图视图171
	工程图视图172
	工程图视图174
	工程图视图175
	工程图视图176
	工程图视图177

	图纸15(2)
	工程图视图178
	工程图视图179
	工程图视图180
	工程图视图181
	工程图视图182
	工程图视图183

	
	图纸14
	工程图视图25
	工程图视图28
	工程图视图29
	工程图视图158
	局部视图 T (1 : 2)


	150701-installation diagram.PDF
	图纸1
	工程图视图2
	局部视图 A (1 : 20)
	局部视图 B (1 : 10)
	局部视图 C (1 : 10)
	局部视图 E (1 : 10)
	局部视图 F (1 : 20)
	局部视图 G (1 : 20)


	
	图纸1
	工程图视图2
	局部视图 A (1 : 20)
	局部视图 B (1 : 10)
	局部视图 C (1 : 10)
	局部视图 E (1 : 10)
	局部视图 F (1 : 20)
	局部视图 G (1 : 20)





